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QUESTION 1

Click the Exhibit button. 

Both the R1 and R2 devices are advertising prefix X into AS 65530 with the BGP attributes shown in the exhibit. 

Which statement is correct in this scenario? 

A. R2\\'s version of prefix X will be active because of the local preference attribute. 

B. R1\\'s version of prefix X will be active because of the local preference attribute. 

C. R1\\'s version of prefix X will be active because of the AS path attribute. 

D. R2\\'s version of prefix X will be active because of the AS path attribute. 

Correct Answer: D 

 

QUESTION 2

What are two characteristics of OSPF ABRs? (Choose two.) 

A. ABRs transmit routing information between the backbone and other areas. 

B. ABRs cannot be part of the backbone and another area at the same time. 

C. ABRs inject routing information from outside the OSPF domain. 

D. ABRs link two OSPF areas. 

Correct Answer: AD 
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QUESTION 3

Which statement is correct about trunk ports? 

A. Trunk ports must have an IRB assigned to accept VLAN tagged traffic. 

B. By default, trunk ports accept only VLAN tagged traffic. 

C. By default, a trunk port can have only a single VLAN assigned. 

D. trunk ports must have an IRB assigned to accept untagged traffic. 

Correct Answer: B 

 

QUESTION 4

Which statement is correct about IS-IS link state PDUs? 

A. They are used to maintain link-state database synchronization. 

B. They are used to establish adjacencies. 

C. They are used to build the link-state database. 

D. They are used to determine whether the neighbors are Level 1 or Level 2. 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, which configuration change is needed for an IS-IS Level 1 adjacency between R1 and R2? 

A. Configure the lo0 family ISO address 49.0002.0010.0042.0002.00 on R2 

B. Configure the lo0 family ISO address 49.0002.0010.0042.0002.00 on R1 

C. Enable Level 2 on R1\\'s ge-0/0/1 interface 

D. Disable Level 2 on R2\\'s ge-0/0/1 interface 

Correct Answer: A 
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